General Info		
Number:	PROJECT NO. 43-24-06	
Description:	BRIDGE DECK REPLACEMENT AND REHABILITATION	
	OHIO TURNPIKE OVER STATE ROUTE 99 M.P. 111.2	
	STATE ROUTE 13 OVER OHIO TURNPIKE M.P. 119.3	
	ERIE COUNTY, OHIO	
Deadline:	AUGUST 23, 2023 @ 2:00 P.M. (EASTERN TIME)	
	Estimated Cost: \$8,100,000.00	
Bids		
Business		Bid Total
Kokosing Construction Company, Inc.		\$7,974,694.74
The Great Lakes Construction Co.		\$8,014,533.37

KOKOSING CONSTRUCTION COMPANY, INC.						
GENERAL	. (Ref. Nos	s. 1 - 5)				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1.00	LUMP SUM	\$35,000.00	\$35,000.00
2	SP 614	MAINTAINING TRAFFIC	1.00	LUMP SUM	\$1,420,060.00	\$1,420,060.00
3	SP 619	FIELD OFFICE	1.00	LUMP SUM	\$40,000.00	\$40,000.00
4	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP SUM	\$38,000.00	\$38,000.00
5	624	MOBILIZATION	1.00	LUMP SUM	\$200,000.00	\$200,000.00
					Total:	\$1,733,060.00

\$1 73	3,060.00
$\psi_{1,I}$	3,000.00

ROADWAY (Ref. Nos. 6 - 58)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price I	Extension	
6	202	CURB REMOVED	5.00	FOOT	\$23.00	\$115.00	
7	202	GUARDRAIL REMOVED	295.00	FOOT	\$2.00	\$590.00	
8	202	PAVEMENT REMOVED	260.00	SQ. YD.	\$22.00	\$5,720.00	
9	202	BRIDGE TERMINAL ASSEMBLY REMOVED	8.00	EACH	\$80.00	\$640.00	
10	202	CONCRETE BARRIER REMOVED	940.00	FOOT	\$45.00	\$42,300.00	
11	203	EXCAVATION	40.00	CU. YD.	\$135.00	\$5,400.00	
12	204	SUBGRADE COMPACTION	244.00	SQ. YD.	\$17.00	\$4,148.00	
13	301	ASPHALT CONCRETE BASE, PG 64-22	61.00	CU. YD.	\$300.00	\$18,300.00	
14	209	LINEAR GRADING, AS PER PLAN	5.00	STA	\$750.00	\$3,750.00	
15	251	PARTIAL DEPTH PAVEMENT REPAIR	500.00	SQ. YD.	\$115.00	\$57,500.00	
16	254	PAVEMENT PLANING, ASPHALT CONCRETE	5,835.00	SQ. YD.	\$11.30	\$65,935.50	
17	255	FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT	500.00	SQ. YD.	\$350.00	\$175,000.00	
18	255	FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL)	500.00	SQ. YD.	\$500.00	\$250,000.00	
19	255	FULL DEPTH PAVEMENT SAWING	1,500.00	FOOT	\$4.00	\$6,000.00	
20	SP302	BITUMINOUS AGGREGATE BASE, PG64-22	67.00	CU. YD.	\$370.00	\$24,790.00	
21	SP304	AGGREGATE BASE	41.00	CU. YD.	\$250.00	\$10,250.00	
22	SP304	AGGREGATE BASE, AS PER PLAN	28.00	CU. YD.	\$275.00	\$7,700.00	
23	SP304	GRANULAR EMBANKMENT	21.00	CU. YD.	\$165.00	\$3,465.00	
24	SP402	ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22	85.00	CU. YD.	\$412.00	\$35,020.00	
26	SP404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR)	245.00	CU. YD.	\$562.00	\$137,690.00	
29	407	NON-TRACKING TACK COAT	820.00	GAL.	\$1.00	\$820.00	
30	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22	8.00	CU. YD.	\$600.00	\$4,800.00	
31	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449)	12.00	CU. YD.	\$600.00	\$7,200.00	
32	601	TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT	3.00	SQ. YD.	\$400.00	\$1,200.00	
33	606	GUARDRAIL, TYPE MGS	88.00	FOOT	\$27.50	\$2,420.00	
34	606	GUARDRAIL, TYPE MGS WITH LONG POSTS	100.00	FOOT	\$33.20	\$3,320.00	
35	606	MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1	6.00	EACH	\$2,760.00	\$16,560.00	
36	606	MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2	2.00	EACH	\$720.00	\$1,440.00	
37	609	CURB, TYPE 4-C	5.00	FOOT	\$170.00	\$850.00	
38	609	CURB, TYPE 6	24.00	FOOT	\$110.00	\$2,640.00	
39	SP614ZP	ZONE PERSON WITH ZONE VEHICLE	4,400.00	HOURS	\$95.00	\$418,000.00	
40	614	WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL)	8.00	EACH	\$2,500.00	\$20,000.00	
41	614	REPLACEMENT SIGN	20.00	EACH	\$250.00	\$5,000.00	
42	614	REPLACEMENT DRUM	200.00	EACH	\$64.00	\$12,800.00	
43	614	WORK ZONE CROSSOVER LIGHTING SYSTEM	2.00	EACH	\$100,000.00	\$200,000.00	
44	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	4.00	CU. YD.	\$600.00	\$2,400.00	
45	614	PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN	380.00	DAYS	\$35.00	\$13,300.00	
46	614C	REMOVAL OF PAVEMENT MARKING	12.40	MILE	\$2,250.00	\$27,900.00	
46A	SPECIAL	EXISTING CROSSOVER TO BE CLOSED/RE-OPENED	1.00	LUMP SUM	\$17,000.00	\$17,000.00	

47	616	WATER	10.00	MGAL.	\$225.00	\$2,250.00
48	SP622	PORTABLE BARRIER, 32" (WITH GLARE SCREEN)	3,240.00	FOOT	\$30.00	\$97,200.00
49	SP622	PORTABLE BARRIER, 32" (WITHOUT GLARE SCREEN)	12,080.00	FOOT	\$12.00	\$144,960.00
50	630	SIGNING MISC.: ADDITIONAL SIGNS, GROUND MOUNTED, AS DIRECTED BY THE ENGINEER	16.00	SQ. FT.	\$25.00	\$400.00
51	642	PAVEMENT MARKING MISC.: FINAL PAVEMENT MARKING PREPARATION	2.40	MILE	\$3,000.00	\$7,200.00
52	642	EDGE LINE, 4", TYPE 1 (WHITE)	0.19	MILE	\$6,000.00	\$1,140.00
53	642	CENTERLINE, 4", TYPE 1 (YELLOW)	0.09	MILE	\$12,000.00	\$1,080.00
54	642	EDGE LINE, 6", TYPE 1 (WHITE)	1.95	MILE	\$1,400.00	\$2,730.00
55	642	EDGE LINE, 6", TYPE 1 (YELLOW)	1.95	MILE	\$1,400.00	\$2,730.00
56	642	LANE LINE, 6", TYPE 1 (WHITE)	3.90	MILE	\$800.00	\$3,120.00
57	SPECIAL	SONIC NAP ALERT PATTERN	2.30	MILE	\$3,594.78	\$8,267.99
58	SPECIAL	SNAP MILL AND FILL	2.30	MILE	\$48,000.00	\$110,400.00

Total: \$1,993,441.49

STRUCT	STRUCTURE MP 111.2 (Ref. Nos. 59 - 82)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
59	SP 202	PORTIONS OF STRUCTURE REMOVED, AS PER PLAN	1.00	LUMP SUM	\$575,000.00	\$575,000.00	
60	SP 509	EPOXY COATED REINFORCING STEEL, GRADE 60	140,130.00	POUND	\$1.80	\$252,234.00	
61	509	REINFORCING STEEL, REPLACEMENT OF EXISTING REINFORCING STEEL, AS PER PLAN	100.00	POUND	\$3.00	\$300.00	
62	510	DOWEL HOLES WITH NON-SHRINK, NON-METALLIC GROUT	40.00	EACH	\$35.00	\$1,400.00	
63	SP 511 (QC2	CLASS QC2 CONCRETE, SUPERSTRUCTURE DECK SLAB	346.00	CU. YD.	\$1,650.00	\$570,900.00	
64	SP 511 (QC2	CLASS QC2 CONCRETE, ABUTMENT SLAB	88.00	CU. YD.	\$750.00	\$66,000.00	
65	SP 511 (QC2	CLASS QC2 CONCRETE, BARRIERS AND PARAPETS	68.00	CU. YD.	\$1,500.00	\$102,000.00	
66	511	CONCRETE MISC.: BEARING PEDESTALS (QC1)	5.00	EACH	\$1,200.00	\$6,000.00	
67	513	STRUCTURAL STEEL MEMBERS, LEVEL 1	21,273.00	POUND	\$9.00	\$191,457.00	
68	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU, AS PER PLAN	1,396.00	SQ. FT.	\$20.00	\$27,920.00	
69	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1,396.00	SQ. FT.	\$20.00	\$27,920.00	
70	SP 514A	GRINDING FINS, TEARS, SLIVERS	4.00	HOUR	\$125.00	\$500.00	
71	SPECIAL	REPAIR OF EXISTING PAINTED SURFACES, AS PER PLAN	1.00	LUMP SUM	\$23,000.25	\$23,000.25	
72	SP 516A	CRACK REPAIR USING EPOXY INJECTION	58.00	LIN. FT	\$250.00	\$14,500.00	
73	SP 516G	REPLACE EXPANSION BEARING DEVICE, ABUTMENTS	36.00	EACH	\$5,100.00	\$183,600.00	
74	SP 516G	REPLACE EXPANSION BEARING DEVICE, PIERS	18.00	EACH	\$6,100.00	\$109,800.00	
75	SP 516J	REPLACE FIXED BEARING DEVICE	18.00	EACH	\$6,750.00	\$121,500.00	
76	SP 519	PATCHING CONCRETE STRUCTURES	394.00	SQ. FT.	\$135.00	\$53,190.00	
77	526	REINFORCED CONCRETE APPROACH SLAB (T=12")	417.00	SQ. YD.	\$475.00	\$198,075.00	
78	SP 527	FALSEWORK, TEMPORARY BRACING AND PROTECTIVE STRUCTURES	1.00	LUMP SUM	\$125,000.00	\$125,000.00	
79	SP 533A	1 1/2" ELASTOMERIC COMPRESSION SEAL IN STRUCTURAL STEEL JOINT	258.00	LIN. FT.	\$775.00	\$199,950.00	
80	SP 536	CONCRETE WEATHERPROOFING, DECK, ABUTMENT SLABS, AND APPROACH SLABS	1,884.00	SQ. YD.	\$9.00	\$16,956.00	
81	SP 536	CONCRETE WEATHERPROOFING, BARRIERS AND PARAPETS	507.00	SQ. YD.	\$14.00	\$7,098.00	
82	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	861.00	SQ. YD.	\$14.00	\$12,054.00	

Total: \$2,886,354.25

STRUCT	URE MP 119	9.3 (Ref. Nos. 83 - 98)				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
83	SP 202	PORTIONS OF STRUCTURE REMOVED	1.00	LUMP SUM	\$300,000.00	\$300,000.00
84	SP 509	EPOXY COATED REINFORCING STEEL, GRADE 60	93,550.00	POUND	\$1.80	\$168,390.00
85	509	REINFORCING STEEL, REPLACEMENT OF EXISTING REINFORCING STEEL, AS PER PLAN	100.00	POUND	\$3.00	\$300.00
86	SP 511 (QC2) CLASS QC2 CONCRETE, SUPERSTRUCTURE DECK SLAB	252.00	CU. YD.	\$1,650.00	\$415,800.00
87	SP 511 (QC2) CLASS QC2 CONCRETE, ABUTMENT SLAB	45.00	CU. YD.	\$800.00	\$36,000.00

88	SP 511 (QC2	2; CLASS QC2 CONCRETE, BARRIERS AND PARAPETS	65.00	CU. YD.	\$1,250.00	\$81,250.00
89	SP 516A	CRACK REPAIR USING EPOXY INJECTION	14.00	FOOT	\$300.00	\$4,200.00
90	SP 516B	SEALING OF CONSTRUCTION JOINTS	652.00	FOOT	\$11.00	\$7,172.00
91	SP 516G	REPLACE EXPANSION BEARING DEVICE, ABUTMENTS	10.00	EACH	\$6,150.00	\$61,500.00
92	SP 519	PATCHING CONCRETE STRUCTURES	120.00	SQ. FT.	\$135.00	\$16,200.00
93	526	REINFORCED CONCRETE APPROACH SLAB (T=12")	107.00	SQ. YD.	\$450.00	\$48,150.00
94	SP 527	FALSEWORK, TEMPORARY BRACING AND PROTECTIVE STRUCTURES	1.00	LUMP SUM	\$139,000.00	\$139,000.00
95	SP 533	THREE (3) INCH CONTINUOUS STRIP SEAL IN STUCTURAL STEEL JOINT	72.00	FOOT	\$900.00	\$64,800.00
96	SP 536	CONCRETE WEATHERPROOFING, DECK, ABUTMENT SLABS, AND APPROACH SLABS	1,331.00	SQ. YD.	\$9.00	\$11,979.00
97	SP 536	CONCRETE WEATHERPROOFING, BARRIERS AND PARAPETS	453.00	SQ. YD.	\$14.00	\$6,342.00
98	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	54.00	SQ. YD.	\$14.00	\$756.00
					Fotal:	\$1,361,839.00

TOTAL BID AMOUNT (REF. NO.1 THRU REF	. NO.98)

\$7,974,694.74

THE GREAT LAKES CONSTRUCTION CO.								
GENERAL (Ref. Nos. 1 - 5)								
Description	Quantity	Units	Unit Price	Extension				
PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1.00	LUMP SUM	\$87,200.00	\$87,200.00				
MAINTAINING TRAFFIC	1.00	LUMP SUM	\$1,500,000.00	\$1,500,000.00				
FIELD OFFICE	1.00	LUMP SUM	\$55,000.00	\$55,000.00				
CONSTRUCTION LAYOUT SURVEY	1.00	LUMP SUM	\$25,000.00	\$25,000.00				
MOBILIZATION	1.00	LUMP SUM	\$1,030,000.00	\$1,030,000.00				
	1 - 5) Description PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND MAINTAINING TRAFFIC FIELD OFFICE CONSTRUCTION LAYOUT SURVEY	Description Quantity PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND 1.00 MAINTAINING TRAFFIC 1.00 FIELD OFFICE 1.00 CONSTRUCTION LAYOUT SURVEY 1.00	Quantity Units Description 1.00 LUMP SUM PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND 1.00 LUMP SUM MAINTAINING TRAFFIC 1.00 LUMP SUM FIELD OFFICE 1.00 LUMP SUM CONSTRUCTION LAYOUT SURVEY 1.00 LUMP SUM	Description Quantity Units Unit Price PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND 1.00 LUMP SUM \$87,200.00 MAINTAINING TRAFFIC 1.00 LUMP SUM \$1,500,000.00 FIELD OFFICE 1.00 LUMP SUM \$55,000.00 CONSTRUCTION LAYOUT SURVEY 1.00 LUMP SUM \$25,000.00				

Total: \$2,697,200.00

Pert No. Description Operation Operation Statematic 6 202 CURR REWOYED 5.00 FOOT \$\$75.00 \$\$375.00 7 202 CURR REWOYED 25.00 FOOT \$\$22.00 \$\$375.00 8 202 PAXEMENT REMOVED 26.00 \$\$0.01 \$\$22.00 \$\$375.00 10 202 CONCRETE BARRIER REMOVED 8.00 \$\$60.00 FOOT \$\$40.00 \$\$376.00 11 205 SCAVATION 40.00 CULV \$\$100 \$\$376.00 12 204 SUBGRADE COMPACTION 24.00 \$\$0.10 \$\$1.3 \$\$14,854.00 13 301 ASPHALT CONCRETE BASE, PG 84-22 \$\$1.00 \$\$1.00 \$\$1.00 \$\$1.00 \$\$1.00 \$\$1.30 \$\$1.30.00 \$\$1.30.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00 \$\$1.50.00	ROAD	ROADWAY (Ref. Nos. 6 - 58)						
7 226 GUARDRAL REMOVED 296 Job FOOT \$200 \$57,20.00 9 202 PAVEMENT REMOVED 8.00 EACH \$80,00 \$57,20.00 9 202 BNIDGE TERMINAL ASSEMBLY REMOVED 8.00 EACH \$80,00 \$57,60.00 10 202 CONCERTE BARRIER REMOVED 40.00 CU. VD. \$57,00.00 \$2,800.00 11 203 EXCAVATION 40.00 CU. VD. \$57,00.00 \$2,800.00 13 301 ASPHALT CONCETE BASE, PG 64-22 61.00 CU. VD. \$33,00.00 \$14,800.00 15 251 PARTIAL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$0.0.70. \$37,500.00 16 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$0.70. \$37,500.00 18 2055 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$0.70. \$32,000.00 19 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$0.70. \$32,000.00 21 SP304 AGGREGATE BASE, REP REPLAN 1.500.00 \$0.70. \$32,000.00 \$37,500.00 21 SP304 AGGREGATE BASE, REPLAN 500.00 \$0.70. \$32,				Quantity	Units	Unit Price	Extension	
8 202 PAVEMENT REMOVED 260.00 SO. VD. S22.00 S57.20.00 10 202 BRIOG ETRMINAL ASSEMBLY REMOVED 80.0 FAOH S0.00 S740.00 10 202 CONCRETE BARNIER REMOVED 940.00 FOOT S40.00 12 204 SUBGRADE COMPACTION 244.00 S0.VD. S70.00 S1.840.00 12 204 SUBGRADE COMPACTION 244.00 S0.VD. S70.00 S1.840.00 14 209 LINEAR GRADING, AS PER PLAN 5.00 S7.800.00 S1.800.00 15 251 PARTIAL CONCRETE BASE, P6.64.22 5.000.00 S0.VD. \$3.500.00 16 254 PAVEMENT PLANING, ASPHALT CONCRETE 5.835.00 S0.VD. \$3.500.00 18 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 S0.VD. \$3.700.00 \$2.7500.00 20 SP300 S0.VD. \$3.700.00 \$2.7500.00 \$2.700.00 \$2.4790.00 25 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 50.00 CU.VD.		6	202 CURB REMOVED	5.00	FOOT	\$75.00	\$375.00	
9 202 BRIDGE TERMINAL ASSEMBLY REMOVED 8.00 EACH \$80.00 5.84.00 \$84.00 \$84.00 FAD 11 235 EXCAVATION 40.00 CU YD \$70.00 \$23.800.00 12 224 SUBGADE COMPACTION 40.00 CU YD \$50.00 \$51.464.00 13 301 ASPHALT CONCRETE BASE, PG 64-22 61.00 CU YD \$300.00 \$11.330.00 15 251 PARTAL DEPTH PAVEMENT REPAR 50.00 \$37.500.00 \$37.500.00 16 254 PAYEMENT PLANING, ASPHALT CONCRETE \$58.350.00 \$0.VD \$45.00 \$57.600.00 16 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT \$50.00 \$0.VD \$52.000 \$15.000 \$75.600.00 16 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) \$50.00 \$0.0D \$50.00 \$50.00 \$50.00 \$57.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00 \$37.600.00		7	202 GUARDRAIL REMOVED	295.00	FOOT	\$2.00	\$590.00	
10 202 CONCRETE BARRIER REMOVED 940.00 FOOT \$40.00 \$37,600.00 12 204 SUBGRADE COMPACTION 244.00 \$CU, YD. \$50.00 \$14.44.00 13 331 ASPHALT CONCRETE BASE, PG 64-22. \$10.00 CU YD. \$30.00 \$14.200 SQL YD. \$30.00 \$14.300 SQL YD. \$30.00 \$14.200 SQL YD. \$30.00 \$14.200 SQL YD. \$30.00 \$14.200 SQL YD. \$30.00 \$14.200 \$14.200 SQL YD. \$30.00 \$37.500.00 \$37.500.00 \$32.200 \$37.500.00 \$32.200 \$37.500.00 \$32.200 \$31.000.00 \$20.00 \$31.000.00 \$32.00 \$31.000.00 \$32.00 \$31.000.00 \$32.00 \$31.000.00 \$32.00 \$31.000.00 \$32.200 \$31.000.00 \$32.200 \$31.000.00 \$32.200 \$31.000.00 \$32.200 \$31.000.00 \$32.200 \$31.000.00 \$32.200 \$31.000.00 \$31.400.00 \$32.200 \$31.000.00 \$31.000.00 \$31.000.00 \$31.000.00 \$31.400.00 \$32.200		8	202 PAVEMENT REMOVED	260.00	SQ. YD.	\$22.00	\$5,720.00	
11 205 EXCAVATION 40.00 CU. YD. \$70.00 \$22.00 \$14.40.00 13 301 ASPHALT CONCRETE BASE, PG 64-22 61.00 CU. YD. \$50.00 \$1.464.00 14 206 LIKER GRADIG, AS PER PLAN 5.00 ST. A \$75.00 \$3.50.00 15 251 PARTIAL DEPTH PAVEMENT REPAIR \$6.00 SQ. YD. \$4.50 \$26.257.50 17 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT \$00.00 SQ. YD. \$45.00 \$37.000.00 18 225 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) \$00.00 SQ. YD. \$21.00 \$31.00.00 \$20.90 \$31.00.00 \$20.90 \$31.00.00 \$20.90 \$31.00.00 \$22.90 \$31.00.00 \$20.90 \$32.00.00 \$32.47.000 \$32.00.00 \$32.47.000 \$32.00.00 \$32.47.000 \$32.00.00 \$32.47.000 \$32.00.00 \$32.47.000 \$32.00.00 \$32.47.000 \$32.00.00 \$32.47.000 \$32.00.00 \$32.20.00 \$32.00.00 \$32.20.00.00 \$32.20.00 \$32.00.00 \$32.20.00.00 \$32.5.00.0 \$32.00.00		9	202 BRIDGE TERMINAL ASSEMBLY REMOVED	8.00	EACH	\$80.00	\$640.00	
12 204 SUBGRADE COMPACTION \$6.00 \$1,44.00 \$0.70. \$6.00 \$1,44.00 14 209 LINEAR GRADING, AS PER PLAN 5.00 STA \$700.00 \$18,300.00 15 251 PARTIAL DEPTH PAVEMENT REPAR 50.00 SO. 7D. \$75.00 \$37,500.00 16 254 PAVEMENT PLANING, ASPHALT CONCRETE 5.835.00 SO. 7D. \$75.00 \$37,500.00 17 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) \$00.00 SO. 7D. \$22.00 \$110.000.00 19 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) \$00.00 SO. 7D. \$22.00 \$13.000.00 20 SP302 BTUINMOUSI AGGREGATE BASE, PG4-22 67.00 CU. YD. \$32.00 \$3.000.00 \$2.7.92.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$3.000.00 \$2.00.00 \$2.50.00 \$1.440.00 \$2.00.00		10	202 CONCRETE BARRIER REMOVED	940.00	FOOT	\$40.00	\$37,600.00	
13 301 ASPHALT CONCRETE BASE, PG 64-22 \$18, 300.00 \$18, 300.00 14 209 LINEAR GRADING, AS PER PLAN 500.00 \$20, VD. \$37,500 \$37,500 16 254 PAVEMENT PLANING, ASPHALT CONCRETE 500.00 \$20, VD. \$41,500 \$75,000 \$37,500 17 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$20, VD. \$120,000 \$75,000.00 \$26,257,500.00 18 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) \$00.00 \$20, VD. \$120,000 \$10,000.00 \$22,000 \$110,000.00 20 SP302 BITUMINOUS AGGREGATE BASE, PG 64-22 67.00 CU. YD. \$324,790.00 21 SP304 AGGREGATE BASE, AS PER PLAN 28.00 CU. YD. \$300.00 \$42,790.00 22 SP304 AGGREGATE BASE, AS PER PLAN 28.00 CU. YD. \$300.00 \$42,790.00 23 SP304 GRAPULAT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG 76-22 (FR) 28.00 CU. YD. \$300.00 \$12,2500.00 \$14,800.00 \$31,450.00 \$13,450.00 \$31,450.00			203 EXCAVATION	40.00	CU. YD.	\$70.00	\$2,800.00	
14 209 LINEAR GRADING, AS PER PLAN 5.00 STA \$700.00 \$3,500.00 15 251 PARTIAL DEPTH PAVEMENT REPAIR 500.00 SQ. YD. \$8,50 \$3,500.00 17 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 SQ. YD. \$150.00 \$75.00 \$3,200.00 18 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) 500.00 SQ. YD. \$150.00 \$3,200.00 19 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) 500.00 SQ. YD. \$22.00 \$110.00.00 20 \$7304 AGGREGATE BASE, EG4-22 67.00 CU YD. \$185.00 \$7,585.00 21 \$97304 AGGREGATE BASE, AS PER PLAN 21.00 CU YD. \$200.00 \$4,200.00 24 \$97404 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 85.00 CU YD. \$200.00 \$4,200.00 24 \$97404 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 820.00 GAL. \$1.00 \$27.00 \$1,450.00 20 407 NON-TRACKING TACK COAT 820.00		12	204 SUBGRADE COMPACTION	244.00	SQ. YD.	\$6.00	\$1,464.00	
15 251 PARTIAL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 SQ. YD. \$75.00 \$37		13	301 ASPHALT CONCRETE BASE, PG 64-22	61.00		\$300.00	\$18,300.00	
16 254 PAVEMENT PLANING, ASPHALT CONCRETE 5,835.00 \$30, 'D. \$45.00 \$26,257.50.00 17 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$50. 'D. \$20.00 \$110.00.00 19 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) 500.00 \$0. YD. \$22.00 \$110.00.00 20 SP302 BITUMINOUS AGGREGATE BASE 67.00 CU. YD. \$37.00 \$24.000.00 \$5.800.00 21 SP304 AGGREGATE BASE 41.00 CU. YD. \$37.00.00 \$5.800.00 23 SP304 GRANULAR EMBANKMENT 28.00 CU. YD. \$20.00 \$4.200.00 24 SP404 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 (FR) 245.00 CU. YD. \$500.00 \$12.2500.00 20 407 NON-TRACKING TACK COAT 80.00 CU. YD. \$500.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 \$42.200.00 <		14	209 LINEAR GRADING, AS PER PLAN	5.00	STA	\$700.00	\$3,500.00	
17 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT 500.00 \$50.00 \$50.00 \$150.00 \$150.00 \$150.00 \$10.000.00 18 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) 500.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$24.790.00 \$24.790.00 21 \$P304 AGGREGATE BASE AGGREGATE BASE \$28.00 CU. YD. \$200.00 \$42.00.00 22 \$P304 AGGREGATE BASE, SPER PLAN 21.00 CU. YD. \$200.00 \$42.00.00 24 \$P402 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, INFRACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 24.00 CU. YD. \$500.00 \$21.500.00 26 \$P404 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449).PG64-22 80.00 CU. YD. \$500.00 \$22.500.00 31 411 SPHALT CONCRETE SURFACE COURSE, TYPE 1, (449).PG64-22 80.00 FOOT \$23.00 \$42.200.00 \$42.200.00		15	251 PARTIAL DEPTH PAVEMENT REPAIR	500.00	SQ. YD.	\$75.00	\$37,500.00	
18 255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL) 500.00 \$2,200.0 \$2,200.0 \$1,000.00 FOOT \$22.00 \$3,000.00 20 SP302 BITUMINOUS AGGREGATE BASE, PG64-22 67.00 CU. YD. \$370.00 \$2,4790.00 21 SP304 AGGREGATE BASE AGGREGATE BASE AGGREGATE BASE \$600.00 \$1,500.00 CU. YD. \$200.00 \$5,600.00 23 SP304 GGRANULAR EMBANKMENT 21.00 CU. YD. \$200.00 \$4,200.00 24 SP404 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 (FR) 24.500 CU. YD. \$200.00 \$4,200.00 26 SP404 ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 24.500 CU. YD. \$500.00 \$4,200.00 31 441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$600.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00		16	254 PAVEMENT PLANING, ASPHALT CONCRETE	5,835.00	SQ. YD.	\$4.50	\$26,257.50	
19 255 FULL DEPTH PAVEMENT SAWING 1,500.00 FOOT \$2.00 \$3,000.00 20 SP302 BITUMINOUS AGGREGATE BASE, PG64-22 67.00 CU. YD. \$370.00 \$24,790.00 21 SP304 AGGREGATE BASE 41.00 CU. YD. \$200.00 \$5,680.00 22 SP304 GRANULAR EMANKMENT 28.00 CU. YD. \$200.00 \$4,200.00 24 SP402 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 85.00 CU. YD. \$370.00 \$31,450.00 26 SP404 ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 26.00 GAL. \$100.00 \$20.00 \$44.200.00 \$12,500.00 29 407 NON-TRACKING TACK COAT 80.00 CU. YD. \$600.00 \$44.800.00 30 441 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$600.00 \$7.200.00 31 411 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449), PG64-22 8.00 FOOT \$27.50.00 \$7.200.00 \$7.200.00 \$7.200.00 \$7.200.00 \$7.200.00 \$7.200.00 </td <td></td> <td>17</td> <td>255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT</td> <td>500.00</td> <td>SQ. YD.</td> <td>\$150.00</td> <td>\$75,000.00</td>		17	255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT	500.00	SQ. YD.	\$150.00	\$75,000.00	
20 SP302 BITUMINOUS AGGREGATE BASE, PG64-22 67.00 CU. YD. \$370.00 \$21700.00 21 SP304 AGGREGATE BASE 41.00 CU. YD. \$185.00 \$7,585.00 22 SP304 AGGREGATE BASE, AS PER PLAN 21.00 CU. YD. \$200.00 \$5,580.00 24 SP404 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 85.00 CU. YD. \$300.00 \$11,450.00 26 SP404 ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 245.00 CU. YD. \$500.00 \$12,500.00 29 407 NON-TRACKING TACK COAT 820.00 GAL. \$1.00 \$820.00 31 441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$800.00 \$7,200.00 32 601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$170.00 \$24,800.00 33 606 GUARDRAIL, TYPE MGS WITH LONG POSTS 100.00 FOOT \$33.20 \$33.20.00 34 606 GUARDRAIL, TYPE MGS 500 FOOT \$33.20.00		18	255 FULL DEPTH PAVEMENT REMOVAL AND RIGID REPLACEMENT (USING RAPID REPAIR CONCRETE MIX MATERIAL)	500.00	SQ. YD.	\$220.00	\$110,000.00	
21 SP304 AGGREGATE BASE 41.00 CU. YD. \$185.00 \$7.585.00 22 SP304 GGREGATE BASE, AS PER PLAN 28.00 CU. YD. \$200.00 \$4.200.00 23 SP304 GRANULAR EMBANKMENT 21.00 CU. YD. \$200.00 \$4.200.00 26 SP404 ASPHALT CONCRETE SURFACE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 85.00 CU. YD. \$30.00 \$14.20.00 26 SP404 ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 245.00 CU. YD. \$60.00 \$12.50.00 29 407 NON-TRACKING TACK COAT 82.00 GAL. \$1.00 \$820.00 31 411 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$800.00 \$7.200.00 32 601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$17.50 \$252.00 33 606 GUARDARLI, TYPE MGS 88.00 FOOT \$27.50 \$2420.00 34 606 GUARDARLI, TYPE MGS 100.00 FOOT \$165.60 \$14.400.00 36<		19	255 FULL DEPTH PAVEMENT SAWING	1,500.00	FOOT	\$2.00	\$3,000.00	
22 SP304 AGGREGATE BASE, AS PER PLAN 28.00 CU. YD. \$200.00 \$5.600.00 23 SP404 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 28.00 CU. YD. \$200.00 \$31,450.00 24 SP404 ASPHALT CONCRETE INTERMEDIATE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 245.00 CU. YD. \$500.00 \$12,2500.00 \$41.00 29 407 NON-TRACKING TACK COAT 800.00 CU. YD. \$600.00 \$42.00.00 \$42.00.00 \$42.00.00 \$42.00.00 \$42.00.00 \$42.00.00 \$12.2500.00 \$22.500.00 \$22.500.00 \$22.500.00 \$40.00 \$7.200.00 \$525.00 \$32.00.00 \$525.00 \$31.450.00 \$16.560.00 \$16.560.00 \$33.220.00 \$35.600.00 \$50.00 \$51.560.00 \$16.560.00 \$32.20.00 \$35.20.00 \$36.600 \$60.60S BRIDGE TERMINAL ASSEMBLY, TYPE 2 \$2.00 \$4.40.00 <td></td> <td>20 SP302</td> <td>BITUMINOUS AGGREGATE BASE, PG64-22</td> <td>67.00</td> <td>CU. YD.</td> <td>\$370.00</td> <td>\$24,790.00</td>		20 SP302	BITUMINOUS AGGREGATE BASE, PG64-22	67.00	CU. YD.	\$370.00	\$24,790.00	
23 SP304 GRANULAR EMBANKMENT 21.00 CU. YD. \$200.00 \$4,200.00 24 SP402 ASPHALT CONCRETE INTERMEDIATE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 85.00 CU. YD. \$370.00 \$31,450.00 29 407 NON-TRACKING TACK COAT 820.00 GAL. \$1.00 \$820.00 30 441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$600.00 \$7,200.00 31 441 ASPHALT CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$175.00 \$2,250.00 32 601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$175.00 \$2,320.00 33 606 GUARDRAIL, TYPE MGS BGO POST \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$3,320.00 \$1,440.00 \$1,440.00 \$3,320.00 \$1,440.00 \$1,440.00 \$3,320.00 \$1,440.00 \$1,440.00 \$1,440.00 \$1,440.00 \$1,440.00 \$1,440.00 \$1,440.00 \$2,6		21 SP304	AGGREGATE BASE	41.00	CU. YD.	\$185.00	\$7,585.00	
24 SP402 ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22 85.00 CU. YD. \$37.000 \$31,450.00 26 SP404 ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 245.00 CU. YD. \$600.00 \$122,500.00 \$122,500.00 \$122,500.00 \$122,500.00 \$410.00 \$200.00 GAL \$11.00 \$820.00 \$60.01 \$100.00 \$4800.00 \$4,800.00 \$4,800.00 \$4,800.00 \$4,800.00 \$4,800.00 \$2,200.00 \$10.10 \$60.00 \$10.00 \$525.00 \$2,200			AGGREGATE BASE, AS PER PLAN	28.00	CU. YD.	\$200.00	\$5,600.00	
26 SP404 ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR) 245.00 CU. YD. \$500.00 \$122,500.00 29 407 NON-TRACKING TACK COAT 820.00 GAL. \$1.00 \$8220.00 30 441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$600.00 \$7,200.00 31 441 ASPHALT CONCRETE BUCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ, YD. \$175.00 \$2245.00 33 606 GUARDRAIL, TYPE MGS 80.00 FOOT \$23.20 \$2420.00 34 606 GUARDRAIL, TYPE MGS 100.00 FOOT \$2420.00 \$2420.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$27.60.00 \$16560.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 2.00 EACH \$775.00 \$2420.00 39 SP6142P ZONE PRESON WITH ZONE VEHICLE 4.00.00 HOURS \$116.00 \$2.400.00 41 614 REPLACEMENT SIGN 20.00 EACH<		23 SP304	GRANULAR EMBANKMENT	21.00	CU. YD.	\$200.00	\$4,200.00	
29 407 NON-TRACKING TACK COAT 820.00 GAL. \$1.00 \$820.00 30 441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$600.00 \$4,800.00 31 441 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449) 12.00 CU. YD. \$600.00 \$7,200.00 32 601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$175.00 \$525.00 33 606 GUARDRAIL, TYPE MGS 88.00 FOOT \$27.50 \$2,420.00 34 606 GUARDRAIL, TYPE MGS WITH LONG POSTS 88.00 FOOT \$33.20 \$3,320.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$2,760.00 \$1,440.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 2.00 EACH \$2,700.00 \$1,440.00 37 609 CURB, TYPE 4.C 5.00 FOOT \$100.00 \$2,400.00 38 609 CURB, TYPE 4.C 5.00 FOOT \$100.00 \$2,400.00 38 609 CURB, TYPE 4.C 5.00 FOOT \$100.00 \$2,400.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZ		24 SP402	ASPHALT CONCRETE INTERMEDIATE COURSE OR RECYCLED ASPHALT CONCRETE INTERMEDIATE COURSE, PG76-22	85.00	CU. YD.	\$370.00	\$31,450.00	
30 441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 8.00 CU. YD. \$600.00 \$7,200.00 31 441 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449) 12.00 CU. YD. \$600.00 \$7,200.00 32 601 TIED CONCRETE BLOCK MAT WIT TYPE 2 UNDERLAYMENT 3.00 S00 S07. \$22,500 \$24,200.00 33 606 GUARDRAIL, TYPE MGS 100.00 FOOT \$33.20 \$3,320.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$2,760.00 \$16,560.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 2.00 EACH \$2,760.00 \$16,560.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 5.00 FOOT \$135.00 \$775.00 37 609 CURB, TYPE 4.C 5.00 FOOT \$100.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00		26 SP404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG76-22 (FR)	245.00		\$500.00	\$122,500.00	
31 441 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449) 12.00 CU. YD. \$600.00 \$7,200.00 32 601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$175.00 \$525.00 33 606 GUARDRAIL, TYPE MGS 88.00 FOOT \$27.20 \$2,420.00 34 606 GUARDRAIL, TYPE MGS WITH LONG POSTS 100.00 FOOT \$33.20 \$3,320.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$2,20.00 \$16,560.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$2,20.00 \$14,400.00 37 609 CURB, TYPE 4 2.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 4 2.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$20,000 41 614 REPLACEMENT SIGN 20.00 EACH \$2,050.00 \$16,400.00 42 614 REPLACEMENT DRUM 20.00 EACH \$3,000.00 <		29	407 NON-TRACKING TACK COAT	820.00	GAL.	\$1.00	\$820.00	
32 601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT 3.00 SQ. YD. \$175.00 \$525.00 33 606 GUARDRAIL, TYPE MGS 88.00 FOOT \$27.50 \$2,420.00 34 606 GUARDRAIL, TYPE MGS WITH LONG POSTS 100.00 FOOT \$33.20 \$3,32.00 \$3,60.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$720.00 \$1,6,60.00 36 609 GURB, TYPE 4-C 5.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 4-C 5.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$2,600.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 42 614 REPLACEMENT SIGN 20.00 EACH \$350.00 \$3,000.00 42 614 REPLACEMENT DRUM 20.00 EACH \$55.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,		30	441 ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22	8.00	CU. YD.	\$600.00	\$4,800.00	
33 606 GUARDRAIL, TYPE MGS 88.00 FOOT \$27.50 \$2,420.00 34 606 GUARDRAIL, TYPE MGS WITH LONG POSTS 100.00 FOOT \$33.20 \$3,320.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$7,200 \$14,400.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 2.00 EACH \$72.00 \$1,440.00 37 609 CURB, TYPE 4-C 5.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 6 24.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$2,600.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,000.00 41 614 REPLACEMENT SIGN 20.00 EACH \$2,000.00 \$16,000.00 42 614 REPLACEMENT DRUM 20.00 EACH \$55.00 \$11,000.00 \$3,000.00 \$2,400.00 43 614 WORK ZONE CROSSOV		31	441 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (449)	12.00	CU. YD.	\$600.00	\$7,200.00	
34 606 GUARDRAIL, TYPE MGS WITH LONG POSTS 100.00 FOOT \$33.20 \$3,320.00 35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$2,760.00 \$16,560.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 2.00 EACH \$720.00 \$1,440.00 37 609 CURB, TYPE 4-C 5.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 6 24.00 FOOT \$100.00 \$2,40.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$506,000.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT DRUM 20.00 EACH \$2,000.00 \$3,000.00 42 614 REPLACEMENT DRUM 2.00 EACH \$39,000.00 \$311,000 \$2,400.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,000.00 \$2,400.00 \$2,400.00 44 614		32	601 TIED CONCRETE BLOCK MAT WITH TYPE 2 UNDERLAYMENT	3.00	SQ. YD.	\$175.00	\$525.00	
35 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 6.00 EACH \$2,760.00 \$16,560.00 36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 2.00 EACH \$720.00 \$1,440.00 37 609 CURB, TYPE 4-C 5.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 6 24.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$506,000.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT SIGN 20.00 EACH \$3,000.00 42 614 REPLACEMENT DRUM 20.00 EACH \$3,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$2,400.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 D		33	606 GUARDRAIL, TYPE MGS	88.00	FOOT	\$27.50	\$2,420.00	
36 606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 2.00 EACH \$720.00 \$1,440.00 37 609 CURB, TYPE 4-C 5.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 6 24.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$506,000.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT SIGN 20.00 EACH \$50.00 \$3,000.00 42 614 REPLACEMENT DRUM 20.00 EACH \$50.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$2,400.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING <td></td> <td>34</td> <td>606 GUARDRAIL, TYPE MGS WITH LONG POSTS</td> <td>100.00</td> <td>FOOT</td> <td>\$33.20</td> <td>\$3,320.00</td>		34	606 GUARDRAIL, TYPE MGS WITH LONG POSTS	100.00	FOOT	\$33.20	\$3,320.00	
37 609 CURB, TYPE 4-C 5.00 FOOT \$155.00 \$775.00 38 609 CURB, TYPE 6 24.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$26,000.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT SIGN 20.00 EACH \$155.00 \$3,000.00 42 614 REPLACEMENT DRUM 20.00 EACH \$55.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 20.00 EACH \$39,500.00 \$2,400.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 2.00 EACH \$39,500.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		35	606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1	6.00	EACH	\$2,760.00	\$16,560.00	
38 609 CURB, TYPE 6 24.00 FOOT \$100.00 \$2,400.00 39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$26,000.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT SIGN 20.00 EACH \$150.00 \$3,000.00 42 614 REPLACEMENT DRUM 200.00 EACH \$550.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,000.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		36	606 MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2	2.00	EACH	\$720.00	\$1,440.00	
39 SP614ZP ZONE PERSON WITH ZONE VEHICLE 4,400.00 HOURS \$115.00 \$506,000.00 40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT SIGN 20.00 EACH \$100.00 \$3,000.00 42 614 REPLACEMENT DRUM 200.00 EACH \$550.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,000.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,300.00 \$41,664.00			609 CURB, TYPE 4-C	5.00		\$155.00	\$775.00	
40 614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL) 8.00 EACH \$2,050.00 \$16,400.00 41 614 REPLACEMENT SIGN 20.00 EACH \$150.00 \$3,000.00 42 614 REPLACEMENT DRUM 200.00 EACH \$55.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,000.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		38	609 CURB, TYPE 6	24.00	FOOT	\$100.00	\$2,400.00	
41 614 REPLACEMENT SIGN 20.00 EACH \$150.00 \$3,000.00 42 614 REPLACEMENT DRUM 200.00 EACH \$55.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,000.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		39 SP614Z	P ZONE PERSON WITH ZONE VEHICLE	4,400.00	HOURS	\$115.00	\$506,000.00	
42 614 REPLACEMENT DRUM 200.00 EACH \$55.00 \$11,000.00 43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,000.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		40	614 WORK ZONE IMPACT ATTENUATOR FOR 24" WIDE HAZARDS (UNIDIRECTIONAL OR BIDIRECTIONAL)	8.00	EACH	\$2,050.00	\$16,400.00	
43 614 WORK ZONE CROSSOVER LIGHTING SYSTEM 2.00 EACH \$39,500.00 \$79,000.00 44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		41	614 REPLACEMENT SIGN	20.00	EACH	\$150.00	\$3,000.00	
44 614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC 4.00 CU. YD. \$600.00 \$2,400.00 45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00			614 REPLACEMENT DRUM	200.00		\$55.00	\$11,000.00	
45 614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN 380.00 DAYS \$38.78 \$14,736.40 46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		43	614 WORK ZONE CROSSOVER LIGHTING SYSTEM	2.00	EACH	\$39,500.00	\$79,000.00	
46 614C REMOVAL OF PAVEMENT MARKING 12.40 MILE \$3,360.00 \$41,664.00		44	614 ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	4.00	CU. YD.	\$600.00	\$2,400.00	
		45	614 PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN	380.00	DAYS	\$38.78	\$14,736.40	
46A SPECIAL EXISTING CROSSOVER TO BE CLOSED/RE-OPENED 1.00 LUMP SUM \$11,000.00 \$11,000.00		46 614C	REMOVAL OF PAVEMENT MARKING	12.40	MILE	\$3,360.00	\$41,664.00	
	46A	SPECIA	L EXISTING CROSSOVER TO BE CLOSED/RE-OPENED	1.00	LUMP SUM	1 \$11,000.00	\$11,000.00	

47	616 WATER	10.00	MGAL.	\$125.00	\$1,250.00
48 SP622	PORTABLE BARRIER, 32" (WITH GLARE SCREEN)	3,240.00	FOOT	\$25.00	\$81,000.00
49 SP622	PORTABLE BARRIER, 32" (WITHOUT GLARE SCREEN)	12,080.00	FOOT	\$18.00	\$217,440.00
50	630 SIGNING MISC.: ADDITIONAL SIGNS, GROUND MOUNTED, AS DIRECTED BY THE ENGINEER	16.00	SQ. FT.	\$32.57	\$521.12
51	642 PAVEMENT MARKING MISC.: FINAL PAVEMENT MARKING PREPARATION	2.40	MILE	\$3,515.00	\$8,436.00
52	642 EDGE LINE, 4", TYPE 1 (WHITE)	0.19	MILE	\$19,180.00	\$3,644.20
53	642 CENTERLINE, 4", TYPE 1 (YELLOW)	0.09	MILE	\$19,325.00	\$1,739.25
54	642 EDGE LINE, 6", TYPE 1 (WHITE)	1.95	MILE	\$1,610.00	\$3,139.50
55	642 EDGE LINE, 6", TYPE 1 (YELLOW)	1.95	MILE	\$1,610.00	\$3,139.50
56	642 LANE LINE, 6", TYPE 1 (WHITE)	3.90	MILE	\$625.00	\$2,437.50
57 SPECIAL	SONIC NAP ALERT PATTERN	2.30	MILE	\$5,685.00	\$13,075.50
58 SPECIAL	L SNAP MILL AND FILL	2.30	MILE	\$48,000.00	\$110,400.00

Total: \$1,690,554.47

STRUCTURE MP 111.2 (Ref. Nos. 59 - 82)					
Ref. No. Item No.	Description	Quantity	Units	Unit Price	Extension
59 SP 202 F	PORTIONS OF STRUCTURE REMOVED, AS PER PLAN	1.00	LUMP SUM	\$400,000.00	\$400,000.00
60 SP 509 E	EPOXY COATED REINFORCING STEEL, GRADE 60	140,130.00	POUND	\$1.75	\$245,227.50
61 509 F	REINFORCING STEEL, REPLACEMENT OF EXISTING REINFORCING STEEL, AS PER PLAN	100.00	POUND	\$3.00	\$300.00
62 510 E	DOWEL HOLES WITH NON-SHRINK, NON-METALLIC GROUT	40.00	EACH	\$60.00	\$2,400.00
63 SP 511 (QC2 0	CLASS QC2 CONCRETE, SUPERSTRUCTURE DECK SLAB	346.00	CU. YD.	\$1,350.00	\$467,100.00
64 SP 511 (QC2 0	CLASS QC2 CONCRETE, ABUTMENT SLAB	88.00	CU. YD.	\$1,250.00	\$110,000.00
65 SP 511 (QC2 0	CLASS QC2 CONCRETE, BARRIERS AND PARAPETS	68.00	CU. YD.	\$1,400.00	\$95,200.00
66 511 0	CONCRETE MISC.: BEARING PEDESTALS (QC1)	5.00	EACH	\$2,250.00	\$11,250.00
67 513 \$	STRUCTURAL STEEL MEMBERS, LEVEL 1	21,273.00	POUND	\$4.70	\$99,983.10
68 SP 514A F	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU, AS PER PLAN	1,396.00	SQ. FT.	\$20.00	\$27,920.00
69 SP 514A F	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1,396.00	SQ. FT.	\$20.00	\$27,920.00
70 SP 514A 0	GRINDING FINS, TEARS, SLIVERS	4.00	HOUR	\$125.00	\$500.00
71 SPECIAL F	REPAIR OF EXISTING PAINTED SURFACES, AS PER PLAN	1.00	LUMP SUM	\$23,000.00	\$23,000.00
72 SP 516A 0	CRACK REPAIR USING EPOXY INJECTION	58.00	LIN. FT	\$55.00	\$3,190.00
73 SP 516G F	REPLACE EXPANSION BEARING DEVICE, ABUTMENTS	36.00	EACH	\$3,000.00	\$108,000.00
74 SP 516G F	REPLACE EXPANSION BEARING DEVICE, PIERS	18.00	EACH	\$3,250.00	\$58,500.00
75 SP 516J F	REPLACE FIXED BEARING DEVICE	18.00	EACH	\$3,600.00	\$64,800.00
76 SP 519 F	PATCHING CONCRETE STRUCTURES	394.00	SQ. FT.	\$100.00	\$39,400.00
77 526 F	REINFORCED CONCRETE APPROACH SLAB (T=12")	417.00	SQ. YD.	\$450.00	\$187,650.00
78 SP 527 F	FALSEWORK, TEMPORARY BRACING AND PROTECTIVE STRUCTURES	1.00	LUMP SUM	\$140,000.00	\$140,000.00
79 SP 533A 1	1 1/2" ELASTOMERIC COMPRESSION SEAL IN STRUCTURAL STEEL JOINT	258.00	LIN. FT.	\$700.00	\$180,600.00
80 SP 536 0	CONCRETE WEATHERPROOFING, DECK, ABUTMENT SLABS, AND APPROACH SLABS	1,884.00	SQ. YD.	\$8.00	\$15,072.00
81 SP 536 0	CONCRETE WEATHERPROOFING, BARRIERS AND PARAPETS	507.00	SQ. YD.	\$8.00	\$4,056.00
82 SP 536 0	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	861.00	SQ. YD.	\$8.00	\$6,888.00

Total: \$2,318,956.60

STRUCTURE MP 119.3 (Ref. Nos. 83 - 98)					
Ref. No. Item No. Description	Quantity	Units	Unit Price	Extension	
83 SP 202 PORTIONS OF STRUCTURE REMOVED	1.00	LUMP SUM	\$350,000.00	\$350,000.00	
84 SP 509 EPOXY COATED REINFORCING STEEL, GRADE 60	93,550.00	POUND	\$1.75	\$163,712.50	
85 509 REINFORCING STEEL, REPLACEMENT OF EXISTING REINFORCING STEEL, AS PER PLAN	100.00	POUND	\$3.00	\$300.00	
86 SP 511 (QC2 CLASS QC2 CONCRETE, SUPERSTRUCTURE DECK SLAB	252.00	CU. YD.	\$1,400.00	\$352,800.00	
87 SP 511 (QC2 CLASS QC2 CONCRETE, ABUTMENT SLAB	45.00	CU. YD.	\$1,200.00	\$54,000.00	

 88 SP 511 (QC2 CLASS QC2 CONCRETE, BARRIERS AND PARAPETS 89 SP 516A CRACK REPAIR USING EPOXY INJECTION 90 SP 516B SEALING OF CONSTRUCTION JOINTS 91 SP 516G REPLACE EXPANSION BEARING DEVICE, ABUTMENTS 92 SP 519 PATCHING CONCRETE STRUCTURES 93 526 REINFORCED CONCRETE APPROACH SLAB (T=12") 94 SP 527 FALSEWORK, TEMPORARY BRACING AND PROTECTIVE STRUCTURES 95 SP 533 THREE (3) INCH CONTINUOUS STRIP SEAL IN STUCTURAL STEEL JOINT 96 SP 536 CONCRETE WEATHERPROOFING, DECK, ABUTMENT SLABS, AND APPROACH SLABS 97 SP 536 CONCRETE WEATHERPROOFING, BARRIERS AND PARAPETS 98 SP 536 CONCRETE WEATHERPROOFING, SUBSTRUCTURE 	$\begin{array}{c} 65.00\\ 14.00\\ 652.00\\ 10.00\\ 120.00\\ 107.00\\ 1.00\\ 72.00\\ 1.331.00\\ 453.00\\ 54.00\\ \end{array}$	CU. YD. FOOT EACH SQ. FT. SQ. YD. LUMP SUM FOOT SQ. YD. SQ. YD. SQ. YD.	\$1,075.00 \$60.00 \$3.90 \$100.00 \$570.00 \$125,000.00 \$850.00 \$8.00 \$8.00 \$8.00 \$10.00	\$69,875.00 \$840.00 \$2,542.80 \$39,750.00 \$12,000.00 \$60,990.00 \$125,000.00 \$125,000.00 \$10,648.00 \$3,624.00 \$540.00
•••••••••••••••••••••••••••••••••••••••				1 -)
		-	Total:	\$1,307,822.30

TOTAL BID AMOUNT (REF. NO.1 THUR REF. NO.98)	
--	--

\$8,014,533.37